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(Part - 1) zZzw
(General Knowledge) (¬x¥â] i)

�&ÐÁM!*�~zZÑoÃy�ìX .1

z

&45½
è
G

H

GE; (B) u (A)

:�~²[ (D) Ec*gu (C)

Îc*"54ø EGE~tic*�{0*ñYD�X .2

6,z9 (B) (Mineral) n*] (A)

E - zN*ð (D) A - zN*ð (C)

Æ'Ãy�? "Who is Kalam" .3

z�x» (B) MgXgZâ**ï (A)

Z*XZZº (D) q-$I (C)

Zk,Zy»¸ò¶Ky .4

�[ (B) CL (A)

t (D) £ (C)

¬@-xâ�g~i!*y�'oc*Y@*ì? .5

Z6,s 21 (B) Z6,s  13 (A)

�Ûzg~ 21 (D) �g~ 23 (C)

¾öÆa�c*Y@*ì? "Rovers Cup" .6

;Å (B) ��' (A)

Ñy9 (D) ¢45é
EH
Ew (C)

i²ßVÅeöÆaZEw�äzZÑM!X .7

Seismograph (B) Hygrometer (A)

Mariners Campass (D) Audio Meter (C)

�âyhZCw',ZñjzÑiò½Æ�âyÃyz*y~�'**ÇH�H? .8

Y2015 �c 1 (B) Y2010 Z6,s 1 (A)

Y 2011 ZÆ', 4 (D) Y 2015 ZÆ', 1 (C)

yz*y»¸ò¶KyHì? .9

ñg (B) F,ó (A)

eg@ (D) è (C)
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»mZkÐìX NCTE .10

yÅ½ (B) Ñiò½ (A)

}½ (D) /½ (C)

(General Urdu) (¬xZg�z ii)
qgzfsZÖpÐwsAÅÙ|#ÙX .11

ig�~ (B) Yw (A)

�ðw (D) 6,~ (C)

Ë!*]ÃY��ñÌZkÐZ�ygx .12

I¾ (B) �& (A)

%Z¬]ZÅ3�.ç EEG (D) �I¬gÃ: (C)

çwÆZq-Ä»mZ¤/�zu}ÄÐ�VÂB@*ìX .13
8j

è
NEi (B) iU*ã (A)

«È (D) �á{�M (C)

Zk~Ðp&]Ãy�ìX .14

�á�ZV7,|�Î� (B) �á�ZV7,_7,_Î� (A)

�á�ZV7,|g�¶Z[Î� (D) ��ZV7,|g�¶Î� (C)

Zk�~I¾MgZðÐ»x1Y@*ìX .15

�{ (B) �~ (A)

ZY: (D) %� (C)

�',s_»ÈHìX .16

u�~5 (B) 1hJ�Y** (A)

p¥wi0+Ï (D) ¤~7,** (C)

TY0+ZgÆMy%~LZ³ó!*L{ó�Âz{¬xîg6,''�@*ìX .17

ñ/$ (B) è� (A)

½Ç (D) ½)Ç (C)

¬Å¦ .18

qÁ (B) q· (A)

©x (D) Z©x (C)
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´)ZDw"»ªù·̄xÃy�ìX .19

!*w�s (B) !*8-�gZ (A)

Zgèysi (D) ¢�æ (C)

Zg�z~�»M¸i¾Æ�zgÐ�@*ìX .20

nZp (B) Z÷Æzò (A)

X�-~ (D) eZËfZ�@ (C)

(General English) ¬xZôm,~ (iii)

21. Very few cities in India are as big as Chennai.
The above sentence can also be expressed as :
(A) No other city in India is as big as Chennai
(B) Chennai is bigger than most other cities in India
(C) chennai is the biggest city in India
(D) Chennai is not the biggest city in India.

22. Choose the rightly spelt word.
(A) Committee (B) Comittee
(C) Comitte (D) Commitee

23. Sheela wasn't a great singer
(A) Isn't it? (B) Didn't she?
(C) Was she? (D) Wasn't she?

24. The word fostering means
(A) Safeguarding (B) Neglecting
(C) Ignoring (D) Nurturing

25. Find out the mistake in the following sentence.
Supposing if it rains what shall we do?
(A) Supposing if (B) it rains
(C) What shall (D) we do

26. '''''  oranges are grown in Nagpur.
(A) A (B) An
(C) The (D) No article

27. Most of us eat ''''''  a spoon.
(A) with (B) in
(C) for (D) by

28. The train '''''  before he reached there.
(A) left (B) has left
(C) had left (D) was left
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29. The one who is unable to pay his debt is
(A) Banker (B) Customer
(C) Bankrupt (D) Debtor

30. Identify the parts of speech of the underlined word. "Come in, please."
(A) Conjunction (B) Preposition
(C) Interjection (D) No

(Teaching Aptitude) D+g+gDy (iv)

Z�Zð½â�g~i!*y~Zka�**ecYV� .31

7,Jä~M�ã�Cì (B) â�§zíÅ³]~Z��� (A)

â�g~i!*y4îg6,-Y$Ëì (D) *yÆK~�ª(�Cì (C)

Zq-ægkÃH�**ecZ#�P¥IÆ¿~$zg�VX .32

Zy»ìwK%��»[ÆaMÐ(,­ecX (A)

ZyÆ!*g}~ZjwÆf)�ZgzVÃ¢zg~Z�ZxÆag7ĝ�,X (B)

ZyÆu6,�&Ðk×7,JäÅgZñ�~Yñ (C)

ZyÅ(F,¹ÆañizVZ�Zâ]»µ/¯c*YñX (D)

fsÆ�gxyD+göÆ´z{ægkÅZëf)�ZgìX .33

#Ò)®)~Äz�Å',�ÛZg~ (B) ¥Æ,»�Ûzr (A)

Äz°~Ëq (D) ZJyÆa¥Ã»g�** (C)

�zgZyD+göZ*�t�ÆÂZkÅZ&b»�&Ð4§iX .34

tÅ¶K0+��äzZá¥Ã',Z>I (B) ËnÆt:�ä»@*W,�b (A)

ZKt»Z�Zs�** (D) ¥Ã×Ð�9�z{yÅtÅ¶K0+�ÅÈ:�Ã (C)

�zy~MÑ]Ð¥HqÝ�Mh�X .35

ÎaXgÅ'g] (B) Äz� (A)

ìÑ]Å� (D) {ñÙ (C)

åâ~½Å»x!»Z®g .36

gc*4Ó#Ö6, (B) £òg¬c*6, (A)

%�/~Ó#Ö6, (D) Z�E+{ÅF,�M6, (C)

()bÆiÆaægkÃH�**ecX .37

"ß_}.#Ö�** (B) µ"Æ�»x�** (A)

�Ð}.#Ö�** (D) ZZ0+Zg~Ð}.#Ö�** (C)
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CYÅ$+Z*Ã�zg�äÆaægkÃH�**ecX .38

÷:|u (B) zX:|u (A)

ñ (D) �âg (C)

_·~ZëqHìX .39

âjw (B) �p (A)

c*��Z�& (D) ÈZ�ÛZð (C)

�VÅ�Y�zú~ZëgzwZ�Z�äzZá .40

ë/ (B) (,}ßv (A)

Ç¸ð (D) gLa (C)

(Mental Ability) f6&¢A (v)

»ÃeHìX RETURN Å§bÃeHYñÂ OCTEJ Ã MARCH Z¤/ .41

QGSTQM (B) TFUVSM (A)

TGRVSO (D) TGVWTP (C)

MÐH�ÇX bc-b-c-b-ccb ZkÃe~ .42

bbcb (B) ccbb (A)

bcbc (D) cbbc (C)

Z¤/�kßvZq-�zu}ÐX�ÂX!*gX�X .43

40 (B) 20 (A)

45 (D) 25 (C)

Yzh+Æ¸ðÅÇÆzZ­Æ¸ð�*ìXZzg�*Å±ÅeZàìXYzh+ZzgeZà»Hģì? .44

RiZ�¸ð (B) ¸ð (A)

ee (D) Ç (C)

Ã)»mÍZÐìez¤/~»m¾Ðì? .45

Ze3 (B) æX6,�÷ (A)

|Z] (D) §Vzò (C)

qgz�s~Ãy�¤/z\ZìX .46

YXTU (B) CBUV (A)

RQOP (D) TIMC (C)
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Z¤/̄»ÃeRìóR»Ãeeuìóeu»ÃeôìZzgô»ÃeÄìÂ¬xîg6,M\¾Ð��X .47

R (B) ¯ (A)

ô (D) eu (C)

�X (Square) �~�̂~Ä%Ã .48

14 (B) 18 (A)

9 (D) 10 (C)

)~:Yw¾Æ�zìX .49

%©:%̧ (B) �á²:Ä (A)

3�:̄ (D) Z*�:�á¤/� (C)

qgzfs�~ÎZwÆ¶KyÅ(~HM@*ì? .50

3, 8, 6, 14?  , 20

10 (B) 11 (A)

9 (D) 8 (C)

(Part -2 ) z�zx
(Mathematics) gc*è

a3 + b3 + c3 = ? Â � a + b + c = 0 Z¤/ .51

3 a b c (B a b c (A

a3 b3 c3 (D a b + c (C

»ù· Roots A$�g` ax3 + bx2 + cx + d = 0 �VÂ Roots )zZ]Æ Z¤/ .52

(B (A

(D (C
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ÃªCÙ�@*ì? (Inequalities) t¾Å°xzZZ] .53

(Mediun) zT6 (B (Mean) Zz�  (A

Zy~ÐÃð� (D (Mode) c6 (C

[)z~ZÑHqÆgK»��Hì? .54

(B (A

(D (C

ú 15 W�áxZø(ìZzgZ¤/z{ 6 ú¢a°�ÅgëgÐ�̂ 10 Zq-¿ZLyÐZøÅ§segZÇ�@*ìXZ¤/z{ .55

W�áxZøVn? 5 W�áx(ìXz{°�ú¢a¾gëgÐegZÇ�}�z{ 4 ¢a°�ÅgëgÐY@*ìÂz{ZøÃ
ú¢a°� 10 (B ú¢a°� 8 (A

ú¢a°� 14 (D ú¢a°� 12 (C

qÝHYñÂZk(,}
°
æO}»ÒgK�JCÍáÆÒ R �»c*YñZzgZq-(,Z�{ r �JCÍßVÃX»Û¢ 27 Z¤/ .56

gKÐ¾Ú�&~�Ç?
1:1 (B 9:1 (A

1:27 (D 1:9 (C

»ñ].Ãyì? Matrices .57

Evarsite Galois (B Euclid (A

C.G. Bachet (D Arthur Caley (C

Ñgc*]»!*zZM�x£â**Y@*ì? .58

R.a. Fisher (B Euclid (A

John Napier (D George Cantor (C

Æ;�»�zuZgÁ''''?ì (3 - 2x)5 .59

-810x (B 810x (A

-81x (D 81x (C

H�Ç? ''' �VA$ (Disjoint Sets) )µÃL AB Z¤/ .60

n (B (A

n(A) + n(B) (D (C

8
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¾§bªCÙKYD�? B Zzg A )zc*:_54øGH .61

(B A = B (A

A - B (D (C

''''H�Ç? (Mode) �Âc6 4 (Median) ZzgzT6 5 (Mean) Z¤/Zz� .62

9  (B 20 (A

2  (D 1 (C

�Â[ÃH}Ð? 1: 1 : 2 Z¤/[ÆiZz-VÅÚ .63

ZZÑHq[ (B [)z~ZÑHq (A

�'.0î JGZ²Zzt[ (D �'.0î JGZ²Zzt)z~Z�:[ (C

6,zZµì? (Quadrant) ¾g, (2, -3)` .64

I (B IV (A

II (D III (C

Z,&9Z°Z�X»ù·ZzgqÝ¢[)z~ìX .65

-1, 4, 5 (B 4,5,6 (A

5,6,7 (D 1,2,3 (C

Å®Z�X�Cì? (Diagonals) ~zF,zV (Regular Hexagon) =Dk .66

8 (B 9 (A

6 (D 7 (C

Ãy��Ç? »ù· n termsÆ 1.2 + 2.3 + 3.4 +....................... Series .67

(B n (n+1) (A

(D (C

H�Ç Diagonal v¢a�VA$�zuZ 17 (Sides) v¢aZzgI 30 (Diagonal) »Zq-zF, (Rhombus) Z¤/Zq-¥ .68

16cm (B 17cm (A

20cm (D 30cm (C

H�ÇX f (x) = .....?A$ f (x +2) = x + 3 Z¤/ .69

x + 3 (B (x - 1) (A

x - 3 (D x + 1 (C

9
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H�Ç? 3 2x-3
A$ 3x = 27 Z¤/ .70

24 (B 27 (A

9 (D 18 (C

Å7H�Ï? aA$ Z¤/ .71

0 (B 5 (A

-1 (D 4 (C

gZââX»�Ãy�ì? .72

1629 (B 1789 (A

1700 (D 1729 (C

�A$z{�zZ°Z�ÃyÐ�VÐ? 27 (HCF) ZzgZy»fzZDsZ� 216 Z¤/�zZ°Z�»ù· .73

54, 162 (B 108, 108 (A

27, 189 (D 100, 116 (C

�g`fs~Ãy��Ç? (a + b)2 - (a - b) 2 = .....? .74

4ab (B 2ab (A

a2 + b2 (D a2 - b2 (C

�y~Ä��Jy3YñÏ? 10 %#V 10 ��Jy3YC�VA$ 100 ó�y~ 100 %#V 100 Z¤/ .75

100 (B 10 (A

1 (D 1000 (C

Å7H�Ï? A$ Z¤/ .76

(B (A

(D (C

¾Æ)z~�Ç? A$ ó Z¤/ .77

2x (B x2 (A

x (D 3x (C

10
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�A$�z�Z],zVÆ%Z�/»�gxãÃ,Äv v¢a�VZzgZy»��«�k 1 v¢aZzg 3 Z¤/�z�Z],zVÆÛ¢ .78

¢a�Ç?
16 (B 20 (A

6 (D 36 (C

�g`fs~¾Æ)z~ì? .79

(B (A

(D (C

ÐëÃ,�''''? (1,2) Zzg (5,4) "g6,zZµZ(`�Õo Y .80

(-0, 9) (B (0, 9) (A

(0, 0) (D (-0, -9) (C

�g`fs~ÐÃy��Ç? Matrix AA$ -A = AT
Z¤/ .81

Skew Symetric Matrix   (B Transpose Matrix (A

Zy~ÐÃð7 (D Symmetric Matrix  (C

�? 18cm [)z~ZÑHq»gK¥xÙTÅZz�ð .82

sq cm (B 108 sq.m (A

100 sq cm (D sq.m (C

Ã�&Ð¬¾ä�gs�zZc*? (Cartesian Geometry) »g�Dy� .83

Rene Decartes (B George Cantor (A

Euler (D Arthur Cayley (C

�g`fs~ÐÃy��Ç? .84

(B (A

(D 1 (C

»o�&f~ÃLÅ®Z�H�Ï? Set ÁÜ�VÂZk n~ Set Z¤/Zq- .85

2n+1  (B 2n  (A

2n-1  (D 2n-1  (C

11
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�w�ZyÅ/zVÅÚH�Ç? 8 �w�Â 28 ìZzgZyÅù¦/, 4:3 Z¤/fZzg÷ZÅ/zVÅÚ .86

5 : 6 (B 6 : 5 (A

5 : 4 (D 4 : 5 (C

'''Å7H�Ï? �VA$ B={3, 4, 5} Zzg A={2, 3, 4} ó U={1, 2, 3, 4, 5} Z¤/  .87

{3, 4, 5} (B {2 ,3, 4} (A

{1, 2, 3} (D {1, 3, 4} (C

Å7H�Ï? .......... xy + yz + zxA$z = 1 + logc
ab ó y = 1 + logb

ca ó x = 1 + loga
bc

Z¤/ .88

0 (B 1 (A

x + y + z (D xyz (C

ÅÚH�Ï? ........ A : B : CA$ Z¤/ .89

1 : 2 : 3 (B 1 : 3 : 6 (A

1 : 2 : 2 (D 1 : 1 : 1 (C

Á�Y@*ìXA$6¤(̈DÅ/H 1 �wìZzgZ¤/Zq-¤(̈DÅ/»Z��HY@*ìÂZyÅ/zV»Zz� 20 CYÅZz�/ 12 .90

�Ï?
�w 7 (B �w 5 (A

�w 11 (D �w 9 (C

qgzfs�Z]~ÐÃy�G��ì? .91

17 (B 12 (A

51 (D 28 (C

Û�Z],{»Zq©�g`fs~ÐÃy�ì? .92

(B (A

(D (C

Ã¾§bKÐ? 1012 �g`fs~gzðÂx~ .93

XMII  (B MXIV (A

MXIII (D MXII (C

12
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»�zge$�**�g`fsZ°Z�~Ãy�ì? 0.0245 .94

4 (B 3 (A

Z (D 5 (C

WÆ�gxy¾z�Ü6,{~Æ»�Zq-�zu}6,X� 6 Zzg 5 .95

5 hr - 30mm (B 5 hr - 22 min (A

(D (C

£Z�ág{�@*ì? 'n' ��~ Î�%�'Æ .96

Àig (B ÑbÎ� (A

Î�%�'Åæ] (D ZÝig (C

CÙ�w̧ògc*è»�y�g`fsÂZgõ~Ð¾�yoc*Y@*ì? .97

�c 22 (B �g~ 22 (A

�Ûzg~ 14 (D �c 12 (C

»Z����,ÂZkÆgK~Ä�Z���Ç? 25% Z¤/ë%,ÆZq©~ .98

(B (A

56% (D (C

�g`fs~ÐÃy��Ç? (Rationalising Factor) »**�§ö
G

b% .99

22/3 + 21/3 (B 22/3 - 21/3 - 1 (A

21/3 - 1  (D 22/3 + 21/3-1 (C

�g`fs~ÐÃy��Ç? A$ Z¤/ .100

2 (B 1 (A

Zy~ÐÃð7 (D 0 (C

///
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